
 

©ActivityConnection.com

Calculation	Crisscross

ACROSS


2. (9 X 13) – 60 = 


4. 16 + (144 ÷ 12) + 802 = 


5. 646 + 304 = 


6. 350.5 + 350.5 = 


8. 3,625 – 1,125 = 


9. 147 – 33 = 


12. (223,344 X 0) + 105 = 


14. 3 X 3 X 3 = 


16. 20% of 1,000 = 


17. 640 X 2 = 


19. 76,767 X 1 = 

DOWN


1. 200 + 800 + 700 + 2000 = 


2. 33,000 + 20,000 + 723 = 


3. 150 X 3 = 


5. 9,566 – 564 = 


7. 2,420 ÷ (951 – 731) = 


10. 1400 – 280 = 


11. 50 X 8 = 


13. 765 – 265 = 


15. 3,000 + 4,025 + 721 = 


17. 125 + 13 + 9 + 10 = 


18. 13 + 16 + 52 = 

Solve the equations and fill in the puzzle.
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(solution)


